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Enrollment No……………… 

Bachelor of Arts 

Fourth Semester Examination, June-2021 

Economics [BAE401T] 

Time: 3:00 Hrs                                                                          Max Marks 85 
 

Note: There are three parts in this paper.  All parts are compulsory. 
uksV %  bl iz’ui= esa rhu Hkkx gSaA lHkh Hkkxksa dks gy djuk vfuok;Z gSA 

 

Part-A  ( ) 

Q1.   Objective type question (oLrqfu"B iz’u)                   [1×5=5] Marks  

(i)  It is studied in public finance - 
lkoZtfud foRr esa v/;;u fd;k tkrk gS & 

(a) Public Income / lkoZtfud vk; 

(b) Public Expenditure / lkoZtfud O;; 

(c) Public Debt / lkoZtfud _.k 

(d) All of the above / mi;qZDr lHkh 

 

(ii) Right on private good is - 
futh oLrqvksa ij vf/kdkj gksrk gS & 

(a) Personal / O;fDrxr   (b) A group / lkewfgd 

(c) Both / nksuksa    (d) None of these / buesa ls dksbZ ugha 

 

(iii) How is the effect of Public expenditure on production? 
 lkoZtfud O;; dk mRiknu ij dSlk çHkko iM+rk gS\ 

(a) Favorable / vuqdwy         (b) Unfavorable / çfrdwy 

(c) Equal / leku         (d) None of these / mi;qZDr dksbZ ugh 

 

(iv) Which type of Tax is a Income tax? 
vk;dj fdl çdkj dk dj gS\ 

(a) Direct tax / izR;{k dj (b) Indirect tax / vçR;{k dj 

(c) Both / nksuksa   (d) None of these / mi;qZDr dksbZ ugh 

 

(v) Who presents Budget in the parliament - 
ctV dks laln esa dkSu çLrqr djrk gS & 

(a) Prime minister / ç/kkuea=h 

(b) Financial minister / foRr ea=h 

(c) Foreign minister / fons’kh ea=h 

(d) Home minister / x`g ea=h 
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Part-B  ( ) 

Short answer type question. Each question carries 5 marks.     [5×5=25]  

y?kq mRrjh; iz’uA izR;sd iz’u ds 5 vad fu/kkZfjr gSaA 

 

Q.1  What do you understand by public finance? 
 lkoZtfud foRr ls vki D;k le>rs gSa\ 

OR /vFkok 

Explain the role and functions of state in an economy. 
vFkZO;oLFkk esa jkT; dh Hkwfedk ,oa dk;ksZa dks Li"V dhft,A 

 

Q.2 Explain the Wagener's law. 
oSxuj ds fu;e dks Li"V dhft,A 

OR /vFkok 

Explain the importance of budget in economy. 
vFkZO;oLFkk esa ctV dk egRo crkb,A 

 

Q.3 Give any five importance of International Trade. 
 vUrjkZ"Vªh; O;kikj esa dksbZ ikap egRo crk,A 

OR /vFkok 

Explain two main characteristics of theory of absolute advantage. 
fujis{k ykHk fl)kar dh nks eq[; fo'ks"krk,a Li"V dhft,A 

 

Q.4  Discuss any four effect of tariff. 
 iz'kqYd ds dksbZ pkj izHkkoksa dh foospuk dhft,A 

OR/vFkok 

Describe main functions of World Trade Organization. 
fo'o O;kikj laxBu ds izeq[k dk;Z crkb,A 

 

Q.5  What do you mean by foreign exchange rate. 
 fons'kh fofue; nj ls vki D;k le>rs gSa\ 

OR/vFkok 

What do you understand by overvaluation of currency? 
eqnzk ds vf/kewY;u ls vki D;k le>rs gSa\ 
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Part-C ( ) 

Long Answer type question. Each question carries 11 marks.                      [5×11=55] 

nh?kZ mRrjh; iz’uA lHkh iz’uksa ds 11 vad fu/kkZfjr gSaA  

 

Q.1  Explain the principle of Maximum Social Advantage. 
 jktLo ds vf/kdre lkekftd ykHk ds fl)kar dh O;k[;k dhft,A 

OR /vFkok 

 Explain Progressive, Proportionate and Regressive Tax. 
 izxfr'khy] vkuqikfrd ,oa izfrxkeh djksa dh foospuk dhft,A 

 

Q.2  Explain various methods of redemption of public debt. 
 lkoZtfud _.k ifj'kks/ku ds fofHkUu rjhdksa dks Li"V dhft,A 

OR /vFkok 

 What is meant by Deficit Financing? Explain its objectives. 
 ghukFkZ izcU/k ls D;k vk'k; gS\ blds mn~ns';ksa dh foospuk dhft,A 

 

Q.3  Critically evaluation the comparative cost theory of International 

Trade. 
vUrjkZ"Vªh; O;kikj ds rqyukRed ykxr fl)kar dk vkykspukRed ewY;kadu dhft,A 

OR /vFkok 

Critically evaluation the comparative cost theory of International 

Trade. 
O;kikj dh 'krksZ dks çHkkfor djusa okys rRoksa dh foospuk dhft;sA 

 

Q.4  Discuss various measures to correct adverse balance of payment. 
 çfrdqy Hkwxrku larqyu dks lq/kkjus ds fofHkUu mik;ksa dh foospuk dhft,A 

OR /vFkok 

 Critically explain purchasing power parity theory. 
 Ø; 'kfDr lerk fl)akr dh vkykspukRed O;k[;k dhft,A 

 

Q.5  What are the change in direction of India foreign trade. 
 Hkkjr esa fons’kh O;kikj dh fn’kk esa D;k ifjorZu gq,A 

OR /vFkok 

 Write struetur of Balance of payment. 
 Hkwxrku larqyu dh ljapuk fyf[k;s\ 
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Enrollment No……………… 

Bachelor of Arts 

Fourth Semester Examination, June-2021 

GEOGRAPHY [BAG405T] 

Time: 3:00 Hrs                                                                          Max Marks 85 

Note: There are three parts in this paper.  All parts are compulsory. 

uksV % bl iz’ui= esa rhu Hkkx gSaA lHkh Hkkxksa dks gy djuk vfuok;Z gSA 

 

Part-A  ( ) 

Q1.  Objective type question (oLrqfu"B iz’u)          [1×5=5] Marks 

(i) Which country produces maximum tea in the world?  

fo'o esa lcls vf/kd pk; mRiknd ns'k gS& 

(a) China/ phu      (b) India/ Hkkjr 

(c) Japan/ tkiku    (d) Sri Lanka / Jhyadk  

(ii) Which state produce maximum rice in India? 

Hkkjr esas lokZf/kd pkoy mRiknu djus okyk jkT; dkSu lk gS\ 

(a) W. Bengal / i- caxky   (b) U.P / m-iz- 

(c) Punjab / iatkc   (d) Bihar / fcgkj 

(iii) Which coal has maximum percentage of carbon? 

fdl dks;ys esa dkcZu dh lcls vf/kd ek=k gksrh gS\ 

(a) Peat/ ihV    (b) Anthracite / ,sUFkzslkbV   

(c) Bituminous / fcVqfeul   (d) Lignite / fYkXukbV  

 

(iv) Maximum petroleum producer country in world is - 

fo'o dk lcls vf/kd isVªksfy;e mRiknd ns'k gS & 
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(a) USA / la-jk-v-     (b) Iran / bZjku 

(c) Iraq / bZjkd    (d) China / phu  

(v) How many types are of Iron ore - 

ykSg v;Ld fdrus izdkj dk gksrk gS\ 

(a) 5 / ikap    (b) 6 / Ng 

  (c) 3 / rhu    (d) 4 / pkj 

Part-B ( ) 

Short Answer type question. Each question carries 5 marks.     [5×5=25] 

y?kq mRrjh; iz’uA izR;sd iz’u ds 5 vad fu/kkZfjr gSaA 

 

Q.1 Define economic geography. 

vkfFkZd Hkwxksy dks ifjHkkf"kr dhft,A 

Or /vFkok 

What is the importance of study of economic geography? 

vkfFkZd Hkwxksy ds v/;;u dk D;k egRo gS\ 

Q.2  What is utility of copper? 

 rkacs dh D;k mi;ksfxrk gS\ 

Or /vFkok 

Petrol is liquid gold. Explain. 

isVªksy rjy lksuk gSA le>kb,A 

Q.3  Discuss fertilizer industries in India. 

 Hkkjr esa moZjd m|ksx dk mi;ksx crkb,A 

Or /vFkok 
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Describe the factor for centralization of industrial. 

m|ksx ds LFkkuh;dj.k ds dkjd crkb,A 

Q.4  What is European common market?  

 ;wjksfi;u lk>k cktkj D;k gS\ 

Or /vFkok 

What is basis of NAFTA? 

uk¶Vk (NAFTA) ls D;k vk'k; gS\ 

Q.5  What is liberalization? 

mnkjhdj.k D;k gS\ 

Or /vFkok 

Describe the benefits of oceanic transport.  

leqnzh ifjogu ds ykHk crkb,A 

 

Part-C ( ) 

Long Answer type question. Each question carries 11 marks.                      [5×11=55] 

nh?kZ mRrjh; iz’uA lHkh iz’uksa ds 11 vad fu/kkZfjr gSaA  

 

Q.1  Describe the favorable geographical condition for the production of Cotton 

in India.  

 Hkkjr esa dikl ds fy, vuwdqy HkSxksfyd n'kkvksa dk o.kZu dhft,A 

Or /vFkok 

 Describe the Agriculture region of world? 

 fo'o esa Ñf"k çns’kksa dk o.kZu dhft,\ 
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Q.2  Describe the distribution and production of iron ore in the world. 

fo'o esa ykSg v;Ld ds forj.k ,oa mRiknu dk o.kZu dhft,A 

Or /vFkok 

 Elaborate the importance of Coal as source of power. Explain the 

distribution of Coal in the world. 

 fo'o esa 'kfDRk ds L=ksr ds :i esa dks;ys dk egRo le>krs gq, dks;yk forj.k le>k,A  

Q.3  Describe the location and distribution of Iron and Industry in world. 

 fo'o esa yksgk ,oa bLikr m|ksx ds LFkkuh;dj.k ,oa forj.k dk o.kZu dhft,A 

Or /vFkok 

 Describe this industry in any two countries of the world. 

 fo'o ds fdUgh nks ns’kksa esa bl m|ksx dk o.kZu dhft,A 

Q.4   International trade is known is “Economical Barometer” explain with 

example. 

vUrjkZ"Vªh; O;kikj dks ÞvkfFkZd csjksehVjß dgk tkrk gSA lksnkgj.k foospuk dhft,A 

Or /vFkok 

Explain the lows of trade and describe the world trade of Wheet. 

O;kikj ds fu;eksa dh O;k[;k djrs gq, xsgwWa ds fo’o O;kikj dk o.kZu dhft,A 

Q.5   Give a comperation description of swez and panama canal. 

Lost ugj ,oa iukek ugj dk rqyukRed o.kZu dhft,A 

Or /vFkok 

 Describe the water routes of North American Ocean. 

mÙkjh vVykafVd egklkxj ds tyekxksZ dk fooj.k dhft,A 
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Enrollment No……………… 

Bachelor of Arts 

Fourth Semester Examination, June-2021 

HISTORY [BAH404T] 

Time: 3:00 Hrs                                                                          Max Marks 85 

Note: There are three parts in this paper.  All parts are compulsory. 
uksV % bl iz’ui= esa rhu Hkkx gSaA lHkh Hkkxksa dks gy djuk vfuok;Z gSA 

 

Part-A  (Hkkx v) 

Q1.   Objective Type Question. (oLrqfu"B iz’u)                               

[1×5=5] 

 

(i) The year of Berlin treaty - 

cfyZu laf/k fdl o"kZ gqbZ & 

(a) 1877     (b) 1878  

(b) 1879     (d) 1880  

 

(ii) Kaiser wiliam II was from which country? 

dSlj fofy;e f}rh; fdl ns’k dk Fkk\ 

(a) England@baXyS.M   (b) France@Ýakl 

(c) Russia@:l    (d) Germany@teZuh 

 

(iii) First world war started? 

çFke fo’o ;q) vkjaHk gqvk\ 

(a) 28 July 1914 / 28 tqykbZ]1914      (b) 28 December 1914 / 28 fnlEcj] 1914 

(c) 27 July 1915 / 27 tqykbZ] 1915        (d) 29 September / 29 flrEcj] 1914 

 

(iv) Which country dropped atom bomb on Hiroshima - 

fgjksf'kek ij v.kq ce fdl ns’k us fxjk;k Fkk & 

(a) China / phu    (b) England / baXyS.M  

(c) America / vesfjdk   (d) France / Ýkal 

 

(v) When did America join the First World War? 

vesfjdk us izFke fo'o ;q) esa izos'k dc fy;k\ 

(a) 1914    (b) 1915 

(c) 1916    (d) 1917 
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Part-B  ( ) 

Short Answer type question. Each question carries 5 marks                  

[5×5=25] 

y?kq mRrjh; iz’uA izR;sd iz’u ds 5 vad fu/kkZfjr gSaA 

 

Q.1  Throw light on Dreyfus case. 
MªsQl dk.M ij izdk'k Mkfy,A 

OR (vFkok) 

Throw light on Kultur Kampf. 
dqYVqj dSEQ ij izdk'k Mkfy,A 

 

Q.2  Describe the causes of First Balkan war. 
izFke cYdu ;q) ds dkj.k crk,A 

OR (vFkok) 

Describe the causes of the Russian Revolution of 1905. 
1905 dh :lh Økafr ds dkj.k crkb,A 

 

Q.3  Describe any four causes for the rise of Nazism. 
ukthokn ds mn; ds pkj dkj.k crkb,A 

OR (vFkok) 

Describe four reasons for the failure league of nation. 
jk"Vª la?k dh vlQyrk ds pkj dkj.k crkb,A 

 

Q.4  Describe the causes of first Opium War. 
izFke vQhe ;q) ds dkj.kksa dk o.kZu dhft,A 

OR (vFkok) 

Describe four causes of Chinese Revolt. 
phuh Økafr ds pkj dkj.k crkb,A 

 

Q.5  Describe four effects of Second World War. 
f}rh; fo'o ;q) ds pkj izHkkoksa dk o.kZu dhft,A 

OR (vFkok) 

Describe the causes of economic crises. 
vkfFkZd eUnh ds dkj.kksa dk o.kZu dhft,A 
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Part-C ( ) 

Long Answer type question. Each question carries 11 marks.                

[5×11=55] 

nh?kZ mRrjh; iz’uA lHkh iz’uksa ds 11 vad fu/kkZfjr gSaA 

 

Q.1  Describe the foreign policy of Bismark. 
fcLekdZ dh fons'k uhfr dk o.kZu dhft,A 

OR (vFkok) 

Describe the foreign policy of Kaiser William II. 
dSlj fofy;e f}rh; dh fons'k uhfr dk o.kZu dhft,A 

 

Q.2  Write an essay on Berlin Congress. 
cfyZu dkaxzsl ij ,d fucU/k fyf[k,A 

OR (vFkok) 

Describe the causes of First World War. 
izFke fo'o;q) ds dkj.k crkb,A 

 

Q.3  Describe the foreign policy of Mussolini. 
eqlksfyuh dh fons'k uhfr dk o.kZu dhft,A 

OR (vFkok) 

Describe the home policy of Hitler. 
fgVyj dh xg̀ uhfr dk o.kZu dhft,A 

 

Q.4  Describe the causes and result of Russia-Japanese War of 1905. 
1905 ds :l&tkiku ;q) ds dkj.k vkSj ifj.kke crkb,A 

OR (vFkok) 

Write an essay on Boxer Movement. 
ckWDlj fonzksg ij ,d fucU/k fyf[k,A 

 

Q.5  Describe the causes of Second World War. 
f}rh; fo'o;q) ds dkj.kksa dk o.kZu dhft,A 

OR (vFkok) 

Describe the foreign policy of England between 1919 to 1939. 
1919 ls 1939 ds e/; baXyS.M dh fons'k uhfr ij izdk'k Mkfy,A 

Enrollment No………………… 
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Bachelor of Arts 

Fourth Semester Examination, June-2021 

Political Science [BAP402T] 

Time: 3:00 Hrs                                                                          Max Marks 85 

Note: - All three sections are compulsory. Student should not write anything on question 

Paper. 

: -

(Part-A) ( )                            [1×5=5] Marks 

This Section contains Objective Type Question each question carry 1 marks. 
bl oxZ esa oLrqfu"B iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 

 

Q.1   Multiple choice Question / oLrqfu"B iz’u 

(i)  Which country has ancient constitution - 
fdl ns’k dk lafo/kku lcls çkphu lafo/kku gS & 

(a) Britain / fczVsu    (b) America / vesfjdk 

(c) Switzerland / fLoV~tjySaM   (d) China / phu 

 

(ii)  Goventions are related to - 
vfHkle;ksa dk lEcU/k gksrk gS & 

(a) Traditions / jhfr fjoktksa ls  (b) Rule / 'kklu ls 

(c) Contitution / lafo/kku ls  (d) Government / ljdkj ls 

 

(iii)  The “ Proudful revolution year” in Britain was? 
ÞfczVsu esa xkSjoiw.kZ Økafrß dk o"kZ Fkk\ 

(a) 1680        (b) 1688 

(c) 1690    (d) 1660 

 

(iv)   Who is supreme in Britain - 
ÞfczVsu esa dkSu loksZPp gSA & 

(a) Judiciary / U;k;ikfydk   (b) Prime minister / ç/kkuea=h 

(c) Lord chancellor / ykMZ pklayj  (d) Parliment / laln 

 

(v)  The Minimum age of American’s president should be ? 
 vesfjdh esa jk"Vªifr in ds fy, de ls de vk;q gksuh pkfg;sA 

(a) 35 years / o"kZ (b) 25 years / o"kZ 

(c) 30 years / o"kZ    (d) 32 years / o"kZ 

 

 

 

Part-B  ( )                          [5×5=25] Marks 
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This section contain short answer type question. Each question carries 5 marks. 

All questions are compulsory. 
y?kq mRrjh; iz’uA izR;sd iz’u ds 5 vad fu/kkZfjr gSaA lHkh iz’u gy djuk vfuok;Z gSA 

 
Q.1 Why is British Constitution is flexible clarify? 
 fczfV’k lafo/kku yphyk dSlsa gS\ Li"V dhft,A 

Or / vFkok 

 What do you understand by “ Rule of low” in Britain. 
 ÞfczVsu esa fof/k dk 'kkluß ls vki D;k le>rs gSA le>kb;sA 

  

Q.2 What do you understand by “ good behavior & send state. 
 ÞlhusV dk f'k"Vkpkjß ls vki D;k le>rs gSa\ le>kb,A 

Or / vFkok 

 How is the American supreme court protector of Constitutions clarify? 
 vejhdh loksZPp U;k;ky; lafo/kku dk laj{k.k dSls gS\ Li"V dhft,A 

 

Q.3 State the berief about the organization and function of swiss state council? 
 fLol jkT; ifj"kn~ dk laxBu ,oa dk;Z la{kSi esa crkb,\ 

Or / vFkok 

 What do you understand by Direct Democracy clarify in brief ? 
 çR;{k çtkra= ls vki D;k le>rs gS\ la{ksi esa Li"V dhft,A 
 

Q.4 Describe the fundamental duties of citizen in chiness constitution. 
 phuh lafo/kku esa ukxfjdksa ds ekSfyd drZO;ksa dk mYys[k dhft,A 

Or / vFkok 

 “The legislative of china is unitary” clarify. 
 Þtuoknh phu dh O;oLFkkfidk ,d lnukRed gSAß Li"V dhft,A 

 

Q.5 Discuss the Similitarites of American and Swiss federal system. 
 vesfjdu vkSj fLol la?kkRed O;oLFkkvksa dh lekUrkvksa dh foospuk dhft,A 

Or / vFkok 

What are four difference between the Britain and American party system. 
 fczVsu vkSj vesfjdk dh nyh; O;oLFkk esa pkj çeq[k vUrj crkb;sA 
 

Part-C  ( )                       [5×11=55] Marks 

Long answer type question. Each question carries 11 marks. All questions are 

compulsory. 
nh?kZ mRrjh; iz’uA lHkh iz’uksa ds 11 vad fu/kkZfjr gSaA lHkh iz’u gy djuk vfuok;Z gSA 

 

Q. 1 "The house of lords is not only a second but secondary chamber'. Discuss. 
 **ykWMZ lHkk dsoy f}rh; lnu gh ugha] vfirq 'kfDrghu lnu gSA** le>kb,A 

Or / vFkok 
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Describe the powers and position of British Prime Minister. 
 fczfV'k iz/kkuea=h dh 'kfDr;ksa vkSj fLFkfr dk o.kZu dhft,A 
 

Q. 2 Discuss the salient features of the American Constitution. 
 vesfjdh lafo/kku dh izeq[k fo'ks"krkvksa dk o.kZu dhft,A 

Or / vFkok 

Discuss the salient features of the party system of U.S.A. 
 la;qDr jkT; vesfjdk dh ny iz.kkyh dh eq[; fo'ks"krkvksa dks crkb,A 

 

Q. 3 Explain the features and powers of the federal council of Swiss. 
fLol la?kh; ifj"kn dh fo'ks"krkvksa ,oa 'kfDr;ksa dks le>kb,A 

Or / vFkok 

 Discuss the reason for the success of the direct democracy in Switzerland. 
 fLoV~tjyS.M esa izR;{k iztkra= dh lQyrk ds dkj.kksa dh foospuk dhft,A 

 

Q. 4 Analyze the rights and duties of Chinese Citizens. 
 phu ds ukxfjdksa ds vf/kdkjksa ,oa drZO;ksa dh leh{kk dhft,A 

Or / vFkok 

Write an essay on the communist party in China. 
 phu ds lkE;oknh ny ij ,d fuca/k fyf[k,A 

 

Q. 5 Compare the amendment procedure of the constitution of U.S.A. and 

Switzerland. 
 vesfjdk ,oa fLoV~tjyS.M esa lafo/kku dh rqyuk dhft,A 

Or / vFkok 

Compare the house of Representative (U.S.A) and house of common 

(Britain) . 
çfrfuf/k lHkk ¼vesfjdk½ ,oa dkWeu lHkk ¼fczVsu½ dh rqyukRed leh{kk dhft,A 
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Enrollment No……………… 

Bachelor of Arts 

Fourth Semester Examination, June-2021 

SOCIOLOGY [BAS403T] 

Time: 3:00 Hrs                                                                          Max Marks 85 

Note: There are three parts in this paper.  All parts are compulsory. 
uksV % bl iz’ui= esa rhu Hkkx gSaA lHkh Hkkxksa dks gy djuk vfuok;Z gSA 

 

Part-A  ( ) 

Q1.   Objective Type Question. (oLrqfu"B iz’u)                      

[1×5=5] 

 

(vi) Nair tribe resides in - 
uk;j tutkfr dgka fuokl djrh gS & 

(a) Malabar / ekykckj   (b) Bastar / cLrj 

(c) Jabalpur / tcyiqj   (d) Punjab / iatkc 

 

(vii) Which tribe does adopt animal husbandry? 
dkSu lh tutkfr i'kqikyu dk dk;Z djrh gS\ 

(a) Gond / xkSaM    (b) Bhil / Hkhy 

(c) Toda / rksM+k    (d) Bhariya / Hkkfj;k 

 

(viii) Hindi meaning of Parivar is - 
ifjokj 'kCn dk fgUnh vuqokn gS & 

(a) Family    (b) Famina 

(c) Famous    (d) None of these 

 

(ix) Totam is related with - 
VksVe bllsa lEcfU/k gksrk gS & 

(a) Family / ifjokj   (b) Class / xkSa= 

(c) Marriage / fookg   (d) Wealth / /ku 

 

(x) Among the following which is the caste - 
fuEu esa ls dkSu lh tkfr gS & 

(a) Bhil / Hkhy    (b) Yadav / ;kno 

(c) Gond / xkSMa    (d) Toda / VksM+k 
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Part-B  ( ) 

Short Answer type question. Each question carries 5 marks                  

[5×5=25] 

y?kq mRrjh; iz’uA izR;sd iz’u ds 5 vad fu/kkZfjr gSaA 

 

Q.1  What is tribe? 
tutkfr D;k gS\ 

OR (vFkok) 

Explain the position of Tribal women in family. 
ifjokj esa tutkrh; L=h dh fLFkfr le>kb,A 

 

Q.2  Clarify Polygamy. 
cgq fookg dks Li"V dhft;sA 

OR (vFkok) 

Discuss the types of kinship. 
ukrsnkjksa ds izdkjksa dk mYys[k dhft,A 

 

Q.3  Explain the consequences if Indebtedness. 
_.kxzLrrk ds ifj.kke crkb,A 

OR (vFkok) 

What is social mobility? 
lkekftd xfr'khyrk fdls dgrs gSa\ 

 

Q.4  What is peasant exploitation? 
d"̀kd 'kks"k.k D;k gS\ 

OR (vFkok) 

Write Birsa Munda movement. 
fcjlk eq.Mk vkanksyu fyf[k,A 

 

Q.5  Write about of Barela tribe. 
ckjsyk tutkfr ds fo"k; esa fyf[k,A 

OR (vFkok) 

What is Ghotul? 
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?kksVqy D;k gS\ 

 

 

 

Part-C ( ) 

Long Answer type question. Each question carries 11 marks.               [5×11=55] 

nh?kZ mRrjh; iz’uA lHkh iz’uksa ds 11 vad fu/kkZfjr gSaA 

 

Q.1  Discuss the tribe area. 
tutkfr {ks= dh foospuk dhft,A 

OR (vFkok) 

Write the rights of Tribal women. 
tutkrh; efgykvksa dk vf/kdkj fyf[k,A 

 

Q.2  Write an essay on polyandrous society. 
cgqifr lekt ij fucU/k fyf[k,A 

OR (vFkok) 

Explain the problems of Tribal society. 
tutkrh; lekt dh leL;k,a crkb,A 

 

Q.3  Give the way of Tribal living. 
tutkrh; thou ds rjhds crkb,A 

OR (vFkok) 

How colonial administration affected the tribes? 
vkSifuosf'kdk 'kklu us tutkfr;ksa dks fdl rjg izHkkfor fd;k\ 

 

Q.4  Describe the land alienation. 
Hkwfe iF̀kDdj.k dh foospuk dhft,A 

OR (vFkok) 

Describe the concept of tribe. 
tutkfr dh vo/kkj.kkRed foospuk dhft,A 

 

Q.5  Write an essay on tribes of Chhattisgarh. 
NRrhlx<+ dh tutkfr;ksa ij fuca/k fyf[k,A 

OR (vFkok) 

Describe the social organization of Gond tribe. 
xkSaM tutkfr ds lkekftd laxBu dk o.kZu dhft,A 
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Enrollment No……………… 

Bachelor of Arts 

Forth Semester Examination, June-2021 

COMPUTER [BCI403T] 

Time: 3:00 Hrs                                                                          Max Marks 85 
 

Note: There are three parts in this paper.  All parts are compulsory. 
uksV % bl iz’ui= esa rhu Hkkx gSaA lHkh Hkkxksa dks gy djuk vfuok;Z gSA 

 

Part-A  ( ) 

Q1.   Multiple Choice Question / oLrqfu"B iz’u                      [1×5=5] Marks 

(i) Row fact are known? 
 jkW QsDV dks dgrs gS\ 

(a) Database     (b) Data 

(c) Both a & b     (d) None 

 

(ii)   Which one is disadvantage of File Storage - 

File storage dh dkSulh ,d gkfu gS & 

(a) Reduanry      (b) Security 

(c) Both a & b     (d) None 

 

(iii)  Which among following is example of object based data model - 

fuEu esa ls dkSu lk Object based data model gS & 

(a) Relation model   (b) Network model 

(c) E-r model    (d) None 

  

(iv)  In E-r model attribute is denoted by ? 

 E-R model esa attribute dks n’kkZrs gS\ 

 (a) Rectangle     (b) Diamond 

(c) Circle    (d) None 

 

(v)   

 Red world object gksrk gS\ 

 (a) Attribute    (b) Relationship 

 (c) Entity    (d) None 

 

Part-B  ( ) 

Short Answer type question. Each question carries 5 marks      [5×5=25] Marks 
y?kq mRrjh; iz’uA izR;sd iz’u ds 5 vad fu/kkZfjr gSaA 
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Q.1  List out various applications of DBMS. 

DBMS ds vuqç;ksxks dk lwphc) dhft,A 

Or /vFkok 

Differentiate between Data and Information. 

Data vkSj Information esa varj Li"V dhft,A 

 

Q.2 Explain Associative entity and weak entity? 
Associative entity vkSj weak entity dks le>kb;s\ 

Or /vFkok 

Explain Mapping constraints? 

Mapping constraints dks le>kb;s\ 

 

Q.3  Write down various data types used in SQL. 

SQL esa mi;ksx gksus okys fofHkUu Data types dks fyf[k,A 

Or /vFkok 

Explain limitation of SQL? 

SQL dh lhekvksa dks le>kb;s\ 

 

Q.4  Explain Group by and Order by clause with an example. 
Group by vkSj Order by clause dks mnkgj.k lfgr le>kb;sA 

Or /vFkok 

Explain any three functions used in SQL along write an example? 

SQL esa ç;qDr gksus okys rhu function dks example  lfgr le>kb;s\ 

 

Q.5  Define Normalization. 

Normalization le>kb;sA 

Or /vFkok 

Explain the use join depend envy. 

Join depend envy dh mi;ksfxrk dks le>kb;sA 

 

Part-C ( ) 

Long Answer type question. Each question carries 11 marks.           [5×11=55] Marks 
nh?kZ mRrjh; iz’uA lHkh iz’uksa ds 11 vad fu/kkZfjr gSaA  

 

Q.1 (a) List out advantage and disadvantage of DBMS. 

 DBMS ds ykHk vkSj gkfu dks lwphc) dhft;sA 

Or /vFkok 
 

 (b) Explain Relational Data Model in detail. 

Relational Data Model dks foLrkj iwoZd le>kb;sA 
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Q.2 Explain Extended featurs of E-R model. 

 E-R model ds Extended featurs dks le>kb;sA 
 

Or /vFkok 

In which more then one courses are running. Student take admission in 

course student are taught by teacher 

 gj dkslZ esa Student admission ysrk gS Student dks teacher i<+krs gSA 

 

Q.3 Write down DMC statements along with their syntax. 

 DMC esa dkSu ls statements  vkrs gS syntax lfgr fyf[k,A 

Or /vFkok 

Write down various set operation. 

fofHkUu set operationfyf[k,A 

 

Q.4 Explain left outer join and Right outer join with example - 

left outer join vkSj Right outer join dks mnkgj.k lfgr le>kb;sA  
 

Or /vFkok 

Explain TCC statement with syntax. 

TCC statement dks syntax lfgr le>kb;sA 

 

Q.5  Differentiate between BCNF and SNF. 

 BCNF vkSj SNF esa varj Li"V dhft,A 

Or /vFkok 

 Write note on the following. 

(a) Partial dependency  

(b) Transitive dependency 
fuEu ij fVIi.kh fyf[k,A 
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Enrollment No………………………. 

Bachelor of Arts 

Fourth Semester Examination, June-2021 

English [FCA401HE] 

Time: 1:20 Hrs                                                                         Max Marks  35 

Note:  All three sections are compulsory. 

Part-A 

Q.1   Objective type question.                                        [1X5=5] Marks  
 

(i) In reality, Yaksha in "Three Questions was' - 

(a) Indra     (b) Yam 

(c) Vishnu    (d) Hanuman 

(ii) The number of the Taxi-cab in which Hardy came to see Ramanujan was -

(a) 1729  (b) 1927  (c) 1279  (d) 2971 

 
(iii) The feminist gender of host is -

(a) Guest     (b) Hostess 

(c) Ghost    (d) Waitress 

(iv) Roger Rosenblatt is - 

(a) Journalist     (b) Novelist 

(c) Playwright     (d) All of the above

(v) The objective form of attract is : 

(a) Attraction    (b) Attractive 

(c) Attracting  (d) Attractness 
 

Part-B 

Q.2 Answer the following questions. (Any 2)       [5X2=10] Marks 

 

(i) How did the isolation for the squirrel as a new form of life start? 

(ii) What was interesting about the Taxi-cab number? 

(iii) How was fire kindled in olden days? 

(iv) What is in are human nature? 

(v) What are the components needed for narrative skills? 
 

Part-C 

Q.3  Long answer type questions.       [10X2=20] Marks 
  

Why does the author want to live in the 18
th

 century if he had the choice? 

OR 

(i) What are the challenges put before the zoologist? 

(ii) Prepare CV for applying for the post of a lecturer in a reputed school. 
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Enrollment No………………………. 

Bachelor of Arts 

Fourth Semester Examination, June-2021 

Hindi [FCA401HE] 

Time: 1:40 Hrs                                                                          Max Marks 50 

oLrqfu"B iz’u %        [5×1=5] 
 

iz-1 *fnekxh xqykeh* fucU/k ds ys[kd gSa & 

 ¼v½ gtkjh izlkn f}osnh      ¼c½ cky eqdqUn  

 ¼l½ ljnkj iw.kZflag    ¼n½ jkgqy lkaLdR̀;k;u  

 

iz-2 jkgqy lkadR̀;ku izHkkfor Fks & 

 ¼v½ 'kSo n'kZu     ¼c½ fgUnw n'kZu 

 ¼l½ ckS) n'kZu    ¼n½ tSu n'kZu 

 

iz-3 *ukjhRo dk vfHk'kki* dh jpukdkj gSa & 

 ¼v½ egknsoh oekZ    ¼c½ lqHknzkdqekjh pkSgku 

 ¼l½ izHkk [ksrku    ¼n½ f'kokuh 

 

iz-4 egknsoh oekZ fdl ;qx dh jpukdkj gSa\ 

 ¼v½ iz;ksxoknh ;qx    ¼c½ Nk;koknh ;qx 

 ¼l½ izxfroknh ;qx    ¼n½ HkkjrsUnw ;qx 

 

iz-5 eka us phQ dks xhr lquk;k & 

 ¼v½ gfj;k uh xk;s    ¼c½ vkse&ekfj;k 

 ¼l½ dksbZ ugha    ¼n½ ns'kh xhr 

 

 

y?kqmRrjh; iz’u %           [3×5=15] 
 

iz-1 iaFk fujis{k ;k /keZ fujis{k 'kCn ds vFkZ vkSj Hkko yksxksa esa vke lgefr u cuk ikus ds 

dkj.kksa dks Li"V dhft,A 

     vFkok 

Hkkjr ds lafo/kku esa O;Dr izLrkouk esa ge Hkkjr ds inkoyh ij fVIi.kh fyf[k,A 

 

iz-2 *fnekxh xqykeh* ls D;k rkRi;Z gS\ 

vFkok 
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 *Qkal* dgkuh dh nks fo'ks"krk,a fyf[k,A 

 

iz-3 /kwedsrq fdls dgrs gSa\ blds bfrgkl ds ckjs esa fyf[k,A 

vFkok 

 ys[kd us QkYxquh ifjorZu dks Økafr D;ksa dgk gS\ 

 

nh?kZmRrjh; iz’u %       [3×10=30] 
 

iz-1 Hkkjr ds lafo/kku dh izLrkouk ds egRo ij ,d ys[k fyf[k;saA 

vFkok 

jkT; ds uhfr funsZ'kd rRoksa dks le>kb,A 

 

iz-2 fgUnh esa iz;qDr gksus okys fojke fpUgksa dks mnkgj.k lfgr le>kb,A 

vFkok 

 MkfoZu dk fodkloknh fl)kar D;k gSa\ le>kb;saA 

 

iz-3 *bUnz/kuq"k dk cuuk ,d oSKkfud ?kVuk gS] u fd nSoh;A* bl dFku ij izdk'k Mkfy,A 

vFkok 

fucU/k ds izeq[k vaxksa dks foLrkj ls le>kb,A 
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Enrollment No………………………. 

Bachelor of Arts 

Fourth Semester Examination, June-2021 

Environmental Science [FCA402EP] 

Time: 3:00 Hrs                                                                          Max Marks 35 

Note: - All three sections are compulsory. Student should not write anything on 

question Paper. 

: -  

Part-A  ( )                                          [1×5=5] 

This Section contains Objective Type Question. Each question carries 1 mark. 
bl oxZ esa oLrqfu"B iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 

 

Q.1  Multiple choice Question / oLrqfu"B iz’u 

(i)  Tehri dam situated in which state - 
 Vsgjh cka/k fdl jkT; esa fLFkr gSA  

(a) Uttar Pradesh / mRrjizns'k  (b) Uttaranchal / mÙkjkapy 

(c) Himachal Pradesh / fgekpy izns'k  (d) Jammu kashmir / tEeq d’ehj 

 

(ii)  Where the bio diversity is law - 
 tSo fofo/krk dgkWa ij de ik;h tkrh gSA 

(a) Tropical areas / m".k dfVcU/kh; ouksa esa (b) Polar areas / /kzqoh; çns’kksa esa 

(c) Rain forests / o"kkZ ouksa esa   (d) Ocean areas / leqnzh {kS=ksa esa 

   

(iii)  Bhopal gas tragedy accured due to lealage of which gas - 
 Hkksiky xSl dk.M esa fdl xSl dk fjlko gqvk Fkk & 

(a) Methyl cyanide / feFkkby lkbukbM 

(b) Methyl iso cyanide / feFkkby vkblksa lkbukbM 

(c) Iso cyanide / vkblksa lk;ukbM 

(d) Methyn cyanide / feFksu lk;ukbM 

 

(iv)  When did family planning program started in India - 
 ifjokj fu;kstu Hkkjr esa dc ls ykxw gqvk & 

(a) lu~ 1951 ls    (b) lu~ 1961 ls 

(c) lu~ 1971 ls    (d) lu~ 1977 ls 

 

(v)  The main reason of Global warming is - 
Hkw& e.Myh; rkiu dk eq[; dkj.k gS & 

(a) Water pollution / ty çnq"k.k  (b) Green house gases / xzhu gkml xSls 

(c) Energy soures/ ÅtkZ ds L=ksr  (d) None of these / mijksDr esa ls dksbZ ugh 
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Part-B  (Hkkx c)                                 [3×5=15] 

This section contain short answer type question. Each question carries 3 marks. 

All questions are compulsory. 
y?kq mRrjh; iz’uA izR;sd iz’u ds 3 vad fu/kkZfjr gSaA lHkh iz’u gy djuk vfuok;Z gSA 

 

Q.1  Write down the benefits from Forest. 
ouksa ls gksus okys ykHk fyf[k,A 

OR 

Write down the effects of Soil Erosion? 
 eǹk vijnu ds çHkko fyf[k,\ 

 

Q.2  What do you understand by Biodiversity. 
tSo fofo/krk ls vki D;k le>rs gSA 

OR 

What is conservation of Biodiversity. 
tSo fofo/krk laj{k.k D;k gSA 

 

Q.3  Explain the population growth. 
 Tkula[;k of̀) dks le>kb,A 

OR 

Write down the reasons for population explosion in India. 
Hkkjr esa tula[;k foLQksV ds dkj.k fyf[k,A 

 
 

Part-C  (Hkkx l)                                   [5×3=15] 

Long answer type question. Each question carries 5 marks. 

All questions are compulsory 
nh?kZ mRrjh; iz’uA lHkh iz’uksa ds 3 vad fu/kkZfjr gSaA lHkh iz’u gy djuk vfuok;Z gSA 

 

Q.1  Write the remedies of floods controls. 
ck<+ fu;a=.k ds mik; crkb;sA 

OR 

Explain the Value of significance of Biodiversity. 
tSo fofo/krk ds ewY;ksa dks le>kb,A 

 

 

Q.2 Define Natural resoures. 
 çkÑfrd lalk/ku dks ifjHkkf"kr dhft,A 

OR 

 Write the benefits by Rivers. 
 ufn;ksa ls gksus okys ykHk fyf[k,A 

 

Q.3 Write brief essay on Water Conservation. 
 ty laj{k.k ij foLrr̀ fucU/k fyf[k,A 

OR 

 Explain Charaetestion of Industrialization . 
 vkS|ksxhdj.k dh fo’ks"krk,a le>kb,A 


